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Q28 360 ml 
Q29 $27 

Q30a 53° 
Q30b PQRU is not a parallelogram because PQ is not parallel to UR. 

 

PAPER 2 

Q1 4u = 24 
1u = 6 
11u = 11 x 6 = 66cm² 

Q2 80
210

 x 100% = 38.10% 

Q3a A 
Q3b 20 
Q4 5 4

5
 x 7 x 2 = 811

5
 km 

Q5 1.3 kg = 1300g 
1300 ÷ 100 = 13 
13 x $0.80 = $10.40 

Q6 4 x $2 = $8 
$53 – 8 = $45  
$45 ÷ 9 = $5 
$5 x 5 = $25  

Q7a 1400 
Q7b 1200 to 1300  

40 buns sold 
Q8a $45 + $25 +$0 + $65 = $135 

$135 ÷ 4 = $33.75 
Q8b True, Ture, Not possible to tell 

Q9a 1
5

 x 40 x 30 x 50 = 12000ml = 12L 

Q9b 45 x 40 x 30 = 54000ml 
54000 – 12000 = 42000ml = 42L 
42 ÷ 1.5 = 28 

Q10a Total units for morning = 14u 
Given to neighbours = 4u 
Given to friends = (14u – 4u) ÷ 2 = 5u 
Fraction given away = 9

14
 



.. _ .. 

85 - 13 = 72 
010b 72 + 9 = 8 

(14 X 8) + 85 = 197

20u = 1.08 kg - 0.78 kg= 0.3 kg 

011 1u = 0.015 kg 
40u = 0.015 kg x 40 = 0.6 kg 
0.78 kg - 0.6 kg= 0.18 kg

012a 540 + 3 = 180 

No. of marbles A gave to B = 60 
012b No. of marbles B gave to C = 90 

Marbles B had at first = 180 + 90 - 60 = 210

Length of ribbon used for 20 bows = 8.5 m - 1.5 m = 7 m 
Length of each bow = 7 m + 20 = 0.35 m 

.

013 1.50 m + 0.35m:::: 4.2 
=4 

30 + 4 = 34

014a White circles = 15, grey circles = 21, total = 36

014b 50 X 50 = 2500

Difference between grey and white circles = figure number 
2500 - 50 = 2450 

014c 2450 + 2 = 1225
1225 + 50 = 1275 
1275 51 

I 2500 - 100

015 '180° - 60° - 53° = 67° 

180° - 67° - 67° = 46° 

136 - 72 = 64 
016a 64 - 1 0 - 1 0 = 44 

44 + 2 = 22 cm

Area of square = 34 x 34 = 1156 cm2 

Area of rectangle � 22 x 10 = 220 cm2 

Area of .6.EFG = 0.5 x 22 x 10 = 110 cm2 

016b Area of .6.ABG = 0.5 x 12 x 34 = 204 cm2 

Area of .6.BCE = 0.5 x 44 x 34 = 748 cm2 

Area of shaded part= (1156 + 220)- (110 + 204 + 748) = 314 cm2 

~· -------

017a 
LABC = 180° - 56° = 124° 

LABE = 360° - 140° - 124° = 96° 

017b 
LABO = (180° - 56°) + 2 = 62° 

LDBF = 180° - 96° - 62° = 22° 
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